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|. Given the table of values for 8;—-—?(7(),
create a table of values for l‘j LCI

ol X [ Y=£) [y=15] | b) [ % [y=F60 [84=1¢K) |
2| =3 | 3 -2 O L& I
et I I S N B B il B e’ 3 2
o7 | | 1 -2 2
[ EC T S | O | O
21 &5 | 5 2] 4 N

2. The point (-5-8) ison "’rhcdgmphoF &=FCX)-.

_Tdentify the Correspon fng point’on
+he gra h of = [fX)I. S |
N

“The corresponding point for 5-8)
| ox:L t+he 8rqpph C){:S E\\j:é\C‘Cx)! is (-5,3).

d. The oraph of u=F) has an x-intercept
of3VYand a yinteccept of -M. What
are +he x-int¥rcept and the v-intercept
-of the graph of Y= | Foal?

Ja=Fixy u=1F00)
N , .
Y-inte 3 | Y-inT o D

| B—iw‘:ﬁ-“? - ’\_-%_—m"ﬁ o
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. The graph of u=Ft) has Xx-intercepts
of -2~ and 7, %4nd a ;;5 intercept
of ;5_ State -‘r‘ne X-itvtercepts and

the y-intercept of The qraph of
SR \w(CCx)\ 3

— = | |
Y () 8! | £O)|

Y-intsSe =2 and ] AX=irrse =2 arnd T

Yynte -3 u-ints
| - P b

S. Copy the %ro:é)h of y=+K). On t+he
Scm\e Set QXeS Slie*ch the
8‘r0ph of s | $GOT.

VA
Q) | j o
A I !fi-'cu; a/
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6. SKetch the %\"Qph of each absolute
Value funcehidn. State +the intercepts
and the domain and range -

Q) “j: | 2%x-6 1
Ly '3—: 2X—6
slope=" 2 Cup)
| Cover)

-'\‘j“' ot=r-G

= Domains {X |xe R}

B oy=txesl L

L».'\d=i’x+5 i
| | N

~ Slope=_1 (up)_ |
, | Cover)

B—{ =5 ]
=Domaint {x|XeR} H |

= Rarge 2 {Yly=0,eR ;
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.
A Fe0=1=x=6l |\
Ly B:-GX-—G) | \

Slope = =3 (down) 71431
| (over)

u-tnt=r-
Y b
=> Domains {'x | ER,}

= Range s §yly20, YRS

d) q(x) = |-%x-3]

Ly \dz-l'x—?)

Slope=>=| (down)
I (over)

= Dornains §x|xeR} 1L
= Range {yl\jao,yer{}
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